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4. Consider the function 7: R? — R® , which is given by T [m ] =| =z +4 |.
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Is T a linear transformation? If so, then give a matrix A with T'(v) = Av for
all v € R%. If not, then give an example to show that one of the rules of linear

transformation fails to hold.
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5. Consider the function T: R? — R® , which is given by T([zl D: [ rq + 4xg ] .
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Is T a linear transformation? If so, then give a matrix A with T'(v) = Av for
all v € R?. If not, then give an example to show that one of the rules of linear
transformation fails to hold.
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